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QID : 1001 - Select the related word from the given alternatives.
Food : Cook :: Furniture : ?

&g 7Tq fenedt # § T <& & gl
T : UehTHT :: eTeR : ?

Options:

1) Wood

Aher

2) Carpenter

sed

3) Chair

4) Mason

st

Correct Answer: Carpenter

Candidate Answer: Carpenter

QID : 1002 - Select the related letters from the given alternatives.
CFI:LOR:: KNQ:?

&g 7Tq fenedt # @ HEfa s1eri &t gl
CFI:LOR::KNQ:?

Options:

1) PON

2) TWZ

3) OMK

4) PNL
Correct Answer: TWZ
Candidate Answer: TWZ

QID : 1003 - Select the related number from th
1/16:-1/32::-4:7
g g frenedt & @ Tefda T & gl

1/16:-1/32::-4:?

Options:
1)2

2)4
3)6

4)8
Correct Answer: 2
Candidate Answer: 8

QID : 1004 - Select the odd word from the given alternatives.

&g Tq frenedt & @ fwm <1z &t gl

Options:
1) Eye
Eire)

2) Nose
ATeh

3) Brain
femmr

4) Ear
Eac)
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Correct Answer: Brain

Candidate Answer: Brain

QID : 1005 - Select the odd letters from the given alternatives.

g g fremed & @ frww srert R g

Options:
1) TSR
2) CDE
3) MNO
4) HIJ

Correct Answer: TSR
Candidate Answer: TSR

QID : 1006 - Select the odd number from the given alternatives.

g 7y faemedt & @ frww deen @t gfg)
Options:

1) 217

2) 259

3) 287

4) 261

Correct Answer: 261

Candidate Answer: 261

QID : 1007 - A series is given, with one word missing. Choose the correct alternative from the given ones that will complete the series.
Escape, Penalty, Typecast, State, Temperature, ? f
ek 31ehH foam B, fored uah oree g 81 Ru g Aareui 4 @ g vl vy g S s st q@amsl W e

Escape, Penalty, Typecast, State, Temperature, ? 3
Options:
,/

1) Unfurls (
?
v

2) Haggler

3) Response

4) Matings
Correct Answer: Response
Candidate Answer: Response

22t

QID : 1008 - A series is given, with one term missing. Choose th from the given ones that will complete the series.

ABABABAB, BABABAB, ABABAB, BABAB, A
TR SrgeRd o mar 8, foreH ge ue qw 1 Ry g AT St SrgeRH o T R

ABABABAB, BABABAB, ABABAB, BABAB, ABAB B

Options:
1) ABA

2) BABA

3) ABAB

4) BAB

Correct Answer: BAB

Candidate Answer: BAB

QID : 1009 - A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the series.
-1.75,7,-0.25,0.5,1.25

Teh S1eH foar a8, Fored ge et e ¢ 1 QTG fadhedt A § 98 9@ [dened g ST oA ol O el

-1.75,7,-0.25, 0.5, 1.25
Options:

1)-1
21
3)-15

4)-1.25
Correct Answer: -1
Candidate Answer: -1

QID : 1010 - Pihu's birthday is on Thursday 4™ May. On what day of the week will be Navya's Birthday in the same year, if Navya was born on 215t October?
g o1 ST 4 78, T TeaR Y §1 I 7eam o1 STvH 21 STargeR 3t §aiT o, df I af 7T & STHfe s o fohdt & givm?



Options:
1) Sunday
Afaar

2) Saturday
FER

3) Wednesday
KGEIN

4) Monday
GILCIN

Correct Answer: Saturday
faR

Candidate Answer: [ NOT ANSWERED |

QID : 1011 - The weights of 4 boxes are 80, 90, 50 and 60 Kg. Which of the following cannot be the total weight, in kilograms, of any combination of these boxes and
in a combination a box can be used only once?

IR g1 T g 80, 90, 50 3R 60 fh.am. &1 Fmfafed & @ sardt & foneft oft oo @ gt aor, foheitms & @i o1 AT &) TondT & $iR e Tt § Qeh ST Ueh &) IR U § &fran
ST Tehall 872

Options:

1) 280

2) 240

3) 220

4) 200

Correct Answer: 240
Candidate Answer: 200
QID : 1012 - From the given words, select the word which cannot be formed using the letters of the given word.

BORINGLY
frafafEa fawed & & ag e g St Ry 7y 21eg & s1eRi o1 TR dhedh AT ST S Teha |

BORINGLY

Options:
1) ORGAN
2) ROBIN
3) GIRLY
4) BRING

Correct Answer: ORGAN
Candidate Answer: ORGAN

QID : 1013 - If UTOPIAN is coded as SRMNGYL, then how will VEG be coded as?,

af& UTOPIAN &t foheft st # SRMNGYL forar Sirar 8, ot VEG &t 33t ahts & &

Options:
1) QXK

2) TCE
3) WAO

4) LDZ
Correct Answer: TCE
Candidate Answer: TCE

QID : 1014 - In a certain code language, '+' represents %, “' represents '+, 'x' represents '+' and '+' represents -'. What is the answer to the following question?

8x16+4+2-10/4=7
fopefY hts wTwT &, '+ BT A 'x' §, ' T gdod '+ §, 'x' &I Aded '+ § 8k '+ o1 gda - g1 REfafEd us e sk @ g2

8x16+4+2-10/4="7
Options:

1)-5

2) 33

3) 22

4)-13
Correct Answer: -5
Candidate Answer: -13

QID:1015-1f73% 12=13,5% 14 =10, 18 % 20 = 11 then what is the value 0f 25 % 6 = ?

aft73%12=13,5% 14=10,18 % 20 = 11 &1 25 % 6 = ? I A T G2
Options:

1)13

2) 61

3)34

4) 81

Correct Answer: 13

Candidate Answer: [ NOT ANSWERED |



QID: 1016 -

Select the missing number from
the given responses

U a7 @eredt & & ofcd
HEdr g

1011 | 7
516 | 7
201 7 | ?
514 3

Options:

111

2) 27

3)13

417

Correct Answer: 17
Candidate Answer: 11

QID: 1017 - X and Y start from the same point. X walks 75 m West, then turns to his right and walks 130 m.
and walks 110 m, then turns to his left and walks 70 m. Where is Y now with respect to the position of X?

the sfme time, Y walks 60 m North, then turns East

X 3R Y gk gt filg & & e &1 X, 75 ez ufe it 3R aretan 8, v oot 218 8k 18 1 & 9k 130 Hiex gefar e {‘60rﬁamaﬁreﬁzmaﬁﬂgﬁﬁaﬁz§3m

& 9fR 110 Hiex Tad g, fthe Su=it a1 STk S 11a1 ¢ 81k 70 Hiex Ietar &1 X &1 FART & o9 Y gt R 8?2
Options:

1) 185 m West
185 #t. ufgm

2) 35 m East

35 gd

3) 185 m East
185+t gd

4) 35 m West
35 1. ufgm

Correct Answer: 185 m East

185 . gd

Candidate Answer: 185 m East

185+t gd

0 conclusions, | and II. You have to consider the statements to be true even if it seems to be at
iven conclusions, if any, follows from the given statements.

QID : 1018 - In the question two statementsiére g
variance from commonly known facts. You have to

Statement
All chairs are sofas.
Some chairs are lounges.

Conclusion
Some lounges are sofas.
All sofas are lounges.

u § g e 3 1 & Oraeh ot &t fsepef | ok 11 Renret 7 €1 smuehl 51T € 16 S e O € 918 a8 AT T et § 9 udlia gia g1 et vt ek & i feg g
et & @ SF-a1/a-8 RfYa ©u @ su gR1 98} Renrell ST Hendl 8/Feha &, afe &is gt

YT

Toft i A gt 81

O HIAt A et &1

fAreand

TO S AR B 8

Foft Tt A6 gl &1

Options:

1) Only conclusion | follows
foreenef |

2) Only conclusion Il follows
e 11

3) Both I and Il follow

gt fsenef | o 1 gt &

4) Neither I nor Il follows

1 at e | w8t & 1 & et Il

Correct Answer: Only conclusion | follows

et fsh | T5t 3

Candidate Answer: Only conclusion | follows
haer e | Tgl &



QID:1019-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fArafaf@a seav smpfa & & @l & o
T e uea pfd & & ol uA &
FATAT AQT ST Hhall?

O
@

i

Options:
1)

Correct Answer:

7

..@

Candidate Answer:

O




QID : 1020 -

In the following figure, square represents Interpreters,
triangle represents Bikers, circle represents Teachers
and rectangle represents Mothers. Which set of letters
represents bikers who are Teachers?

Prfafaa snefy A, ot seERet # gefar &, P
TSy F gafan &, 9o Riare # g § AR Iwa
AT F AT §1 FEW F Pl a1 TG ARG F
zefrar & S e ofr &2

D
b
EB

iV |

A
FG/_: H

Options:
1) BAG
2) FEB

3) DH,F
4) ABE

Correct Answer: ABE

Candidate Answer: A B,E

QID : 1021 -
Which answer figure will complete
the pattern in the question figure?

frfaf@a & @ - s smpfa g
Il & 9T O FE?

Z



Options:
1

w

e

s

Correct Answer:

OO

i

Candidate Answer:

s

QID : 1022 -

From the given answer figures, .

one in which the question figu
hidden/embedded.

& T 3o FpfaAt A & 39
forast e amsfar ffea &




Options:
1)

Correct Answer:

Candidate Answer:

QID: 1023 -

A piece of paper is folded and puncl
in the question figures. From the gi
indicate how it will appear when o

wee 3epfadt A e




Options:

3

)

{5
D (]
5.5

4

S
M
Correct Answer:
G
0.0
Candidate Answer:
O~0
DI

=

QID : 1024 -

If a mirror is placed on the line
which of the answer figures is th
of the given figure?

Tfg v gUoT F MN @ W @r
3o IR # F wla-d Il W
F HRl WidTess grfre? M

%,
Mos

\

_//




Options:
1

[
\ /@

N
-

A

I NACINETA

2\

Correct Answer:

\J

[\ @

Candidate Answer:

U

[\ @




QID: 1025 -

A word is represented by only one set of numbers as given
in any one of the alternatives. The sets of numbers given in
the alternatives are represented by two classes of alphabets
as shown in the given two matrices. The columns and rows of
Matrix-I are numbered from 0 to 4 and that of Matrix-1I are
numbered from 5 to 9. A letter from these matrices can be
represented first by its row and next by its column, for
example 'K' can be represented by 32, 43 etc and 'Z' can be
represented by 88, 98 etc. Similarly, you have to identify the
set for the word 'TWIN'.

UF e Shdel U HEA-WHE GaNT &Aar amr g, Smr i
Aot F & famelt ver & fear mr g1 Seeul F G aw
HEAT-EAR AR F & 39t ganr gAe A § o B Re
AT E HEGE! A Bl WegE-l & FEH 3R i & ower
0 & 4 3R ege-ll 1 5 F 9 ¥ 57 HeQl # TH R
FI Ugel 3 dfFd HR GE A TR T g@nT e o
THAT ¥l 3EeROT & AU 'K' & 32, 43 e @RT g2wr
ol § duT 'Z' & 88, 98 e ganr AT FAT HET B
S AE W AuS WA A U g TWIN' & o ®Hg

I 9ga gl
Matrix | Matrix Ii
HI=YE - | egE -l
1] 1 2 3 4 6
] E C|H 1 K u
1| F|D|B |G| ) 0
2 M|G|G|A]|L v
3|C|L | K|B]|F 5
4 1 G I KM Q
Options:
1) 34,12,59,69
2) 65,85,42,77

3) 21,14,99,97

4) 13,04,59,85

Correct Answer: 65,85,42,77
Candidate Answer: 65,85,42,77

QID : 1026 - Convert binary 1010101 to de

FER 10101071 &t GeFed H F&et |
Options:

1) 85

2) 87

3) 89

4) 91

Correct Answer: 85

Candidate Answer: 89

QID : 1027 - A can do 75% of a job in 24 days and B can do half of the job in 4 days. If they work on it together in how many days can they the job?

A 24 T 7 Geh & &1 75% T e Gehdl & 3R B 4 = Ff 3T &1 &t 3118 9T &R GehdT &1 TfE S 59 A ohl Teh 1Y fAcTene ahed &, dl & 34 foram Rt o ae @e?

Options:

1)12.8

2)9.6

3)6.4

4)10.2

Correct Answer: 6.4

Candidate Answer: 9.6

QID : 1028 - The diagonal of a square is 22 cm. What is the length (in cm) of its side?

Qep o o faremof 22 A.#f. &, gk g o o (.. ) R &2
Options:

1) 22v2

2) 11/v2

3) 33v2

4)11v2

Correct Answer: 11v2

Candidate Answer: 11v2



QID : 1029 - If on a Sale there is 35% discount on the marked price of Rs 2400, but the sale is done at Rs 1248 only then what additional discount (in %) did the
customer get?

3R e farehl & 2400 % & Sifthd Jo0 TR 35% e 8, Afch fasht dhaet 1248 3 & Y STl 8, at Tmeah ot SHfaRReh g2 (% H) fef?
Options:

1) 20

2)15

3) 25

4) 30

Correct Answer: 20

Candidate Answer: 20

QID : 1030 - What is the third proportional to 9 and 75?
9 &R 75 & forg <fiemr srgunfaes o= 82

Options:

1) 675

2) 625

3) 725

4) 775

Correct Answer: 625
Candidate Answer: 675

QID : 1031 - In a class of 52 students there are 22 boys. The average weight of these boys is 57 Kg and average weight of the full class is 42 kgs. What is the average
weight (in kgs) of the girls of the class?

52 BT Y Teh el § 22 Sk &1 37 ASh! ol 3ad aor 57 foh.am. & 3R Ot srem ot aftwas awi= 42 f36.am. &1 sren Y refeat ot sitra aw (6o, &) i &2
Options:

1)33

2) 31

3)35

4) 37

Correct Answer: 31
Candidate Answer: 31

o, N

QID : 1032 - If a scooter is sold for Rs 23,750, the seller will face 5% loss. At what price (in Rs) shéjld he séll to gain 10% profit?

SR e Whex 23,750 % H & S1rar & ot faghar st 5% JeRdTe ol ST AT U &1 39 1 F'IT}( el
Options:
1) 26750
2) 27500
3) 24750
4) 22750
Correct Answer: 27500

Candidate Answer: 24750

QID : 1033 - Priya got 26 marks more in Arts in Craft r Arts marks are 60% of the sum of her Arts and Crafts marks. What are her Crafts marks?

o ot et B fRIeTehelT T 26 37eh S1fdeh e | 38 fRIereRetT & AT 3iehT T 60% BT &1 3Tk fRIeehatt & 3ich T 82
Options:

1)78

2) 65

3)91

4) 52

Correct Answer: 52
Candidate Answer: 65

QID : 1034 - To travel 600 km, a Express train takes 3 hours more than Duronto. If however, the speed of the Express train is doubled, it takes 4.5 hours less than
Duronto. What is the speed (in km/hr) of Duronto ?

600 f5. 5. 0 a1 3 3 FoIY, Teh T 21 gzt @ 3 9 oifiien T Sl &1 SR G 341 o Ry S g St 8, o g gzt @ 4.5 6 o w <t 21 et Yy (e /eier )
Rt &2

Options:

1) 50

2) 40

3) 80

4) 60

Correct Answer: 50

Candidate Answer: 60

QID : 1035 - What is the difference (in Rs) between the compound interests on Rs. 8000 for 1 year at 12% per annum compounded yearly and half-yearly?

1 91t & ey 8000 & TR AT 12% Tehqfeg; SATST i & § T aTfties iR srganiier saret (¥ #) # a1 SfaR ghm?
Options:

1)24.4

2)18.8

3)28.8

4)14.4

Correct Answer: 28.8

Candidate Answer: 14.4



QID : 1036 - If 9x/2 - (1/3)(5x/2 + 7) = -1/3, then what is the value of x?

af 9x/2 - (1/3)(5x/2 + 7) = -1/3, &t x &1 A9 T &2

Options:

1) 6/11

2)-6/11

3)11/6

4)-11/6

Correct Answer: 6/11
Candidate Answer: 6/11

QID : 1037 - If a3 - b3 = 35 and ab = -6, then what is the value of a - b?

aftad-bd=353Rab=-68 dta-bwmr AFFTR?
Options:

15

2)2

3)4

4)3

Correct Answer: 5

Candidate Answer: 5

QID : 1038 - A number is greater than 6 times its reciprocal by 5/2. What is the number?

Qo TReAT 36 Geehd o 6 AT & 5/2 § 3rde 1 dwe . 82
Options:

16

2)4

3)5

4)8

Correct Answer: 4

Candidate Answer: 5

U IR 20ft & uUH 14 sl o1 gt 71 §, afe uigar ug 1 g ofR 9radi ug 11 81
Options:
1)93
2)73
3) 187
4)189

Correct Answer: 189
Candidate Answer: 93

QID : 1040 - What is the reflection of the point (-1, 3) in the line y

¥ary = 28 g (-1, 3) 1 wffT w2
Options:

Correct Answer: (-1, 1)
Candidate Answer: (5, -3)

QID : 1041 - Point A (8, 2) divides segment BC in the ratio 2:3. Co-ordinates of B are (-1, 6) and C are (x, y). What is the value of y?

iz A (8, 2) Yameds BC 1 2: 3 & orgara & Rrsnfoe e &1 B 3 P (1, 6) # 9 C 35 P (v y) 81y s e &2
Options:

1)-4

2)8

3)-8

4) 4

Correct Answer: -4

Candidate Answer: 4

QID : 1042 - At what point does the line 6x - 5y = -12 cuts the x-axis?

T 6x - 5y = -12 o foig wR x-187 l recft &2

Options:

1)(2,0)

2)(0,2)

3)(-2,0)

4)(0,-2)

Correct Answer: (-2, 0)
Candidate Answer: (2, 0)

QID : 1043 - AABC is right angled at B. BD is an altitude. If AD = 50 cm and DC = 8 cm, what is the value of BD (in cm)?
AABC B R IHeh!0T €| BD IT<h $ars &1 afe AD = 50 @.7ft. 3ikR DC = 8 9.+, §, @t BD (3.7, ) v o s 82



Options:

1)25

2)16

3)20

4) 42

Correct Answer: 20
Candidate Answer: 42

QID : 1044 - What is the value of Cot 30° - v2 Cosec 45° =?

Cot 30° - v2 Cosec 45° =? T {1 &RIT 8?2
Options:

1)v3-2

2) (2v2-1)/V6

3) (V3-2)/2

4) (v3-2)/V3

Correct Answer: V3 - 2

Candidate Answer: (V3 - 2)/2

QID : 1045 - A XYZ is right angled at Y. If m£Z = 60°, then

Sec X.Tan Z =?
AXYZ Y RIAGROTEI e m2Z = 60° 8, aF

Sec X.Tan Z =?
Options:

1)2

2)2/3

3)2/v3

4) v3/2

Correct Answer: 2
Candidate Answer: 2

QID : 1046 - If Tan 6 = 5/12, then Cosec 6 = ?

Ife Tan 6 = 5/12, @t Cosec 6 = ?

Options:

1) 5/13

2)12/5

3)13/5

4)13/12

Correct Answer: 13/5

Candidate Answer: 13/12

QID : 1047 -

The pie chart shows the number of 0s) irf one year
in a certain territory. Study the
question.

qTE =T UF e & mw 7] # 1=
=idr 31 59 IHRG BT HLTT B

RN

e following

# = (B9R] H)
Ul BT IR

= Scooters / iﬂfdﬁl 50
® Cars /[ Tﬂﬁ'ztﬂ 15

® Buses faﬂ, 5

* Motorcycles / ﬁ!E?HTsﬂFﬂ, 35
» SUVs / TEgdL, 20
® Trucks jﬁ_ 10

Which type of vehicles were sold more than trucks but less than SUVs?

o O 31 ofk Tyt (SUVs) § w et aret arg+t o & 27

Options:
1) Buses
CE )

2) Motorcycles
3) Cars
mreat

4) Scooters

Correct Answer: Cars



Candidate Answer: Cars

QID : 1048 -

The pie chart shows the number of vehicles sold (in 1000s) in one year
in a certain territory. Study the diagram and answer the following
question.

uTE =T U fAfar # ww a9 # I S Frer ATgAt S @ear (SR H)
ST 31 39 3RE & AL & AR FEfafad vl &1 3ar §)

= Scooters / @ﬁ, 50

* Cars /TSN, 15

¥ Byses [ aﬁ 5

* Motorcycles / fﬁm@ﬁﬁ, 35
* Suvs / TEYEL, 20

® Trucks / §?ﬁ 10

-

N

Ratio of number of motorcycles sold to total of cars and SUVs sold is?

forenat a1t AitexaTsehel ot et Ml Sfik Uy (SUVs) & o T sigurd T 82
Options:

1H)1:1

2)3:7

3)7:4

4)3:4

Correct Answer: 1: 1

Candidate Answer: 1: 1

oy

QID : 1049 -

The pie chart shows the number of vehicles sold (in 1000s) in one
in a certain territory. Study the diagram and answer the foll
guestion.

qTE =T UF Afara & 0F 7] § T= q1 aTer
T 81 39 ARG BT AT B

® Trucks / Q?ﬁ 10

If 27% of the trucks sold are trailers then how many trailers were sold in the year in the given territory?

af &3 ST At 7t A @ 27% FoR &, At Rg g &1 F 30 e 3 R e Fer A3 g 2
Options:

1) 2000

2) 3645

3) 2700

4) 2465

Correct Answer: 2700

Candidate Answer: 2700



QID : 1050 -

The pie chart shows the number of vehicles sold (in 1000s) in one year
in a certain territory. Study the diagram and answer the following
question.

uTE e ue Hfa & um At # = S AT ATgAt i dear (§9RI H)
T 81 39 ARG T Ay &1 AR Feafafaa v & gar T

= Scooters / @fdﬁr 50
\ % Cars / Tﬂﬁ‘ﬂl 15
¥ Buses / a@ B
* Motorcycles / mﬁ'ﬁiﬁ, 35
Suvs / TEgdl 20

¥ Trucks fg?ﬁ 10

If 50% of scooters were sold at Rs 50,000/unit and rest were sold at Rs 60,000/unit then the total sales of scooters in the year in the given territory was?

& 50% Tgex 50,000 F / Ffe & AR a2 911G 3R 4 60,000 T / Ife 3 SITER 9 ¢ af &g 7TQ &5 # QR I o SR TRe) i et forehl it gii?
Options:

1) Rs 27.5 lakhs

27.57@ %

2) Rs 225 crores

225 FIE T

3) Rs 275 crores

275 FAE T

4) Rs 20 lakhs

209G %

Correct Answer: Rs 275 crores
275 AT T

Candidate Answer: [ NOT ANSWERED ]

QID : 1051 - In the following question, some part of the sentence may have errors.
If a sentence is free from error, select 'No Error'.

art of the sentence has an error and select the appropriate option.

What brings them to the (1)/ institute is their dream to (2)/ make the worl . (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 4
Candidate Answer: 1

QID : 1052 - In the following question, so
If a sentence is free from error, select '‘No

y have errors. Find out which part of the sentence has an error and select the appropriate option.

Ravi fed it (1)/ with green (2)/ chilli but guava. (
Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: 1

)

QID : 1053 - In the following question, a sentence is given with a blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

It is famous for its design.
Options:

1) peculiar

2) peculiarity

3) peculiarly

4) peculiars

Correct Answer: peculiar
Candidate Answer: peculiar

QID : 1054 - In the following question, a sentence is given with a blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

The sculpture also has wings jutting out from the forearms.



Options:

1) enormous

2) enormously

3) enormousness
4) enormity

Correct Answer: enormous
Candidate Answer: enormous

QID : 1055 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Extrinsic

Options:

1) Integral

2) Innate

3) Connate

4) Acquired

Correct Answer: Acquired
Candidate Answer: Integral

QID : 1056 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Corroboration
Options:

1) Rebuttal

2) Retraction
3) Veto

4) Affirmation

Correct Answer: Affirmation
Candidate Answer: Veto

QID : 1057 - In the following question, out of the four alternatives, select the word opposite in meaning to the

Gumption

Options: ( )
1) Inanity
2) Acumen ( 3
0O~
»w

3) Savvy
4) Astuteness
eaning to the word given.

Correct Answer: Inanity
Candidate Answer: Inanity

QID : 1058 - In the following question, out of the four alternatives, select the wo

Ridicule
Options:

1) Caricature
2) Contempt
3) Flattery
4) Jeer

Correct Answer: Flattery
Candidate Answer: Flattery

QID : 1059 - In the following question, out@f the four altern elect the alternative which best expresses the meaning of the idiom/phrase.

Shoot the breeze

Options:

1) Brag about oneself

2) Talk idly, chat

3) Speak obvious lies

4) Burp after having a good meal
Correct Answer: Talk idly, chat

Candidate Answer: Brag about oneself

QID : 1060 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Under my thumb

Options:

1) A very easy task

2) To hide something

3) To pressurise someone to partner with you for a crime
4) Under my control

Correct Answer: Under my control
Candidate Answer: Under my control

QID : 1061 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

Students (are making) to work in the garden.
Options:

1) is made

2) was made

3) are made

4) No improvement

Correct Answer: are made



Candidate Answer: are made

QID : 1062 - In the following question, out of the four alternatives, select the alternative which will improve the bracketed part of the sentence. In case no
improvement is needed, select "no improvement".

After examining the parrot, the vet cleaned the wound, stitched and (will bandage) it.
Options:

1) bandage

2) bandaged

3) bandaging

4) No improvement

Correct Answer: bandaged

Candidate Answer: bandaged

QID : 1063 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words / sentence.

A mental condition characterized by delusions
Options:

1) Prudent

2) Lucid

3) Paranoia

4) Rational

Correct Answer: Paranoia
Candidate Answer: Lucid

QID : 1064 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the words / sentence.

Impossible or hard to read or decipher
Options:

1) Lucidity

2) lllegibility

3) Exactitute

4) Palpability

Correct Answer: lllegibility

Candidate Answer: Lucidity

It.

QID : 1065 - In the following question, four words are given out of which one word is correctly sp
Options: o

1) etiquete (

Select he correctly spelt word.

‘ ‘A\

,/

2) etequette
3) etequete
4) etiquette

Correct Answer: etiquette
Candidate Answer: etiquette

A

QID : 1066 - In the following question, four words are given out o W s correctly spelt. Select the correctly spelt word.
Options:

1) unwearied

2) unvearied

3) unwearyied

4) unvearyied

Correct Answer: unwearied
Candidate Answer: unvearied

QID : 1067 - The question below consists of a setof labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

One may believe

X-that the mind consists of
Y-can cause motions in matter
Z-ideas, and may still hold that ideas
Options:

1) XYZ

2) ZYX

3) XzY

4) ZXY

Correct Answer: XZY
Candidate Answer: XZY

QID : 1068 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

This was the greatest
X-increase in the timing of
Y-seen on record in the Arctic
Z-emergence of spring the researchers had
Options:

1) XYZ

2) ZYX

3) ZXY

4) XzY

Correct Answer: XZY
Candidate Answer: XYZ



QID : 1069 - In the following question, a sentence has been given in Active / Passive voice. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Passive / Active voice.

My boss is giving many assignments.

Options:

1) Many assignments are being given by my boss.

2) Many assignments is being given by my boss.

3) Giving of many assignment has been done by my boss.

4) Giving of many assignment was being done by my boss.
Correct Answer: Many assignments are being given by my boss.
Candidate Answer: Many assignments are being given by my boss.

QID : 1070 - In the following question, a sentence has been given in Direct / Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect / Direct speech.

Their mother said to the children, "Be careful!”

Options:

1) Their mother asked that the children to be careful.

2) Their mother asks the children to be careful.

3) Their mother asked the children to be careful.

4) Their mother asks that the children to be careful.

Correct Answer: Their mother asked the children to be careful.

Candidate Answer: Their mother asks the children to be careful.

QID : 1071 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now deciphering the climate and chemical composition of their
atmosphere. As a first measure, scientists are keen if the planets are Earth-like, by ruling the presence of hydrogen gas enveloping them.
Mass estimates already suggest that the inner six planets have a rocky composition, while the one with a low density may have a volatile composition
due to the of an ice layer or atmosphere.

the focus is now deciphering the climate
Options:

1)to

2) for

3) from

4) on

Correct Answer: on

Candidate Answer: on

QID : 1072 - In the following passage, some of the words have been left out. Read
four alternatives.

With a fair possibility of liquid water being present on at least three planet
atmosphere. As a first measure, scientists are keen if the
Mass estimates already suggest that the inner six planets
due to the of an ice layer or atmosphere.

deciphering the climate and chemical composition of their
-like, by ruling the presence of hydrogen gas enveloping them.
y composition, while the one with a low density may have a volatile composition

scientists are keen if the plane!
Options:

1) to know

2) know

3) knowing

4) on know

Correct Answer: to know

Candidate Answer: to know

QID : 1073 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now deciphering the climate and chemical composition of their
atmosphere. As a first measure, scientists are keen if the planets are Earth-like, by ruling the presence of hydrogen gas enveloping them.
Mass estimates already suggest that the inner six planets have a rocky composition, while the one with a low density may have a volatile composition
due to the of an ice layer or atmosphere.

by ruling the presence of hydrogen gas

Options:

1) out

2)in

3) outside

4) on

Correct Answer: out
Candidate Answer: out

QID : 1074 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now deciphering the climate and chemical composition of their
atmosphere. As a first measure, scientists are keen if the planets are Earth-like, by ruling the presence of hydrogen gas enveloping them.
Mass estimates already suggest that the inner six planets have a rocky composition, while the one with a low density may have a volatile composition
due to the of an ice layer or atmosphere.

the inner six planets have a rocky composition



Options:

1) may be

2) hence

3) might

4) so

Correct Answer: might
Candidate Answer: may be

QID : 1075 - In the following passage, some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

With a fair possibility of liquid water being present on at least three planets, the focus is now deciphering the climate and chemical composition of their
atmosphere. As a first measure, scientists are keen if the planets are Earth-like, by ruling the presence of hydrogen gas enveloping them.
Mass estimates already suggest that the inner six planets have a rocky composition, while the one with a low density may have a volatile composition
due to the of an ice layer or atmosphere.

volatile composition due to the of an ice layer
Options:

1) present

2) presently

3) presenting

4) presence

Correct Answer: presence

Candidate Answer: presence

QID : 1076 - The Food Corporation of India (FCI) purchases wheat and rice from the farmers in states where there is surplus production. The farmers are paid a pre-
announced price for their crops called as .

IR @rer fAme (qrelers) ifdishy SIeute= aret wrsat § fohami & A T a1aet @iiear &1 fhami ot 37h whaet & forg gt @ et dimd § st &, o gl ST 2|
Options:

1) Minimum Retail Price

LATH a1 e ‘

2) Maximum Retail Price

FAaH T I
4) Maximum Support Price
kel
Correct Answer: Minimum Support Price
A g g
Candidate Answer: Maximum Retail Price

SfARaT YT g

WW (’A \\ 2
3) Minimum Support Price 3
_J

y N

<

(

-

QID : 1077 - Which two articles (Fundamental Rights) of Indian Constitution ar

I 359 & dgd AP MU o SR ft HRed1g W F e @ &t Feifera =18 g 82

Options:

1) Article 14 and 15
3gDE 1474115

2) Article 16 and 17
e 16 quT 17

3) Article 18 and 19
ITEDE 18 qAT19

4) Article 20 and 21
I 20 qUT 21

Correct Answer: Article 20 and 21
ST 20 9T 21

Candidate Answer: Article 16 and 17

e 16 quT 17

efided even during National Emergency under Article 359?

QID : 1078 - In India, all international treaties and agreements are made in the name of .

IR # gt SiaRiefa Sfdat qun aweia, FIH R B

Options:

1) The Prime Minister of India

IR & TeH

2) The President of India

IRd & AgUfd

3) The Chief Justice of India

TR o g rarefiar

4) The Foreign Minister of India

IR & fer waft

Correct Answer: The President of India
IRd &

Candidate Answer: The Prime Minister of India
IRA o TeTH

QID : 1079 - Which of the following was a major incident to happen in India in year 1919?
¥ 1919 & vRa & Frafafea & @ o= <t ygw gen afed gg off?



Options:
1) Dandi March
HSEIC]

2) Jallianwala Bagh Massacre
SiferaiaTer ST gAThTS
3) Non Cooperation Movement

4) Swadeshi Movement

w@&=f

Correct Answer: Jallianwala Bagh Massacre
Sferatare I gThie

Candidate Answer: Jallianwala Bagh Massacre
Siforatare It gThie

QID : 1080 - After which year, the struggle against British gradually became a mass movement?

o af & ugpd Siel & g Tet 38T Tud ofR ofR vep o1 srigter # uRRafda g mar ur?

Options:

1) 1910

2) 1915

3) 1919

4) 1923

Correct Answer: 1919

Candidate Answer: 1919

QID : 1081 - Who founded 'Tattavabodhini Sabha'?

' Faa At g Y 2T fheR v

Options:
1) Rabindranath Tagore
TeffATy &R

2) Debendranath Tagore
ey &R

3) Sarojini Naidu
TR ATy

4) Mahatma Gandhi
TgTeHT ieft

Correct Answer: Debendranath Tagore

Candidate Answer: Sarojini Naidu

RS

QID : 1082 - Which meridian or longitude is also termed as the Standard Merid

I T HeATE AT AR T YR T ATk ARSI oft gt simar &2
Options:

1) 27°30°E

27°30'g,

2) 27°30'W

27°30'T.

3) 82°30'W

82°30'T.

4) 82°30'E

82°30' T,

Correct Answer: 82°30'E
82°30' Y,

Candidate Answer: 82°30'E
82°30' Y,

QID : 1083 - The northern plains of India are formed of deposits.

YR & I AgH & UBhAd g a1 Bl
Options:
1) Coral

o

2) Alluvial
hBOR

3) Silt

e,

4) Volcanic

Correct Answer: Alluvial
HOR

Candidate Answer: Volcanic

QID : 1084 - Which is one of the distinct features of the peninsular plateau?

urgdg ger &t fafdre fastvaren & @ et o v 82



Options:

1) Black soil area
reft gt ot &

2) Laterite soil area
dfexrse g et &
3) Red soil area
e At ot &

4) Alluvial soil area

FOR &l A &1 &

Correct Answer: Black soil area
ettt o &

Candidate Answer: Alluvial soil area

FOR FH g o &

QID : 1085 - Which river marks the easternmost boundary of the Himalayas?

fewTera <t gt < &t ot <t 7 Rifga aneelt 82
Options:

1) Ganga

T

2) Brahmaputra

ECE
3) Kosi
il

4) Gandak
Teh

Correct Answer: Brahmaputra
ERkE)
Candidate Answer: Brahmaputra

ERRE)

QID : 1086 - Which state of India is the largest producer of cotton?

YR T DI T IS U Sl oY 8T IUEHh &7
Options:

1) Gujarat

2) Rajasthan

ST

3) Madhya Pradesh

e uaT

4) Goa

Tt

Correct Answer: Gujarat

Candidate Answer: Madhya Pradesh
T TR

QID : 1087 - Air moves from the high-pressure ar
Indian subcontinent. These we know as the

gan aferor-gd HermR & aféor-gd R & =g gae &
Options:

1) Easterly

PCEIRIN

2) Westerly

EIEEEAICIN

3) South-West Monsoon

SIRuT-ufgH A

4) Trade

AMUR

Correct Answer: South-West Monsoon
afRor-ufas A
Candidate Answer: Westerly

BIECEARIN

Indian Ocean in a south-easterly direction and turn right towards low pressure areas over the

# Y gaTg aTet & Y 3R gt 81 g TR garsil & ¥u § S &1

QID : 1088 - The marked price of an article is 50% more than its cost price. If 20% discount is given, then what will be the profit percentage?

U % o1 Sifchd Ao S o Hed § 50% MTAeh &1 Ak 20% &t ge & St , It e ufaera & ghm?
Options:

Correct Answer: 20
Candidate Answer: 30



QID : 1089 - Which of the following is/are contact force / forces?
I. Friction force

Il. Magnetic force

IIl. Gravitation force

T ddamar/Igubsad /&2
|. SS0T g

1. grIhIT Set
111 TFATRYT I

Options:
1) Only |
haet |
2) Only Il
Fad |l

3) Only 1
haet Il

4) Both Il and Il
1 a2 111 gF

Correct Answer: Only |
|

Candidate Answer: Only Il
Fad |l

QID : 1090 - Which multicellular Eukaryotes, have cell wall and they do not perform photosynthesis?

T A SRR ghRaEE & R et fafy gt @ uig & vemrr Gedwor g hea?

Options:
1) Fungi
Thots

2) Plantae

A

3) Animalia
4) Protista

ifeeer

Correct Answer: Fungi

Candidate Answer: Fungi

QID : 1091 - Which among the following is an example of a saturated carbon com

fafafaa & @ o a1 ue Gqwd e el o IareRor 82
Options:
1) Ethane
g

2) Ethene
g9

3) Ethyne

ERIESH

4) All options are correct

qoft forreg gt §

Correct Answer: Ethane

T

Candidate Answer: All options are correct
goft faronea gt &

QID : 1092 - Ministry of Power has launched which scheme with an aim at providing last mile electricity connectivity to all rural and urban households?

Gt reftor e <rEdt aRaRT @ sife Wi farega GatsTedT Sueey dRM & Seed @ Sl AoTerd A fohd ateTT et QiR foRar 82
Options:

1) Shagun

T

2) Sahaj

gl

3) Saubhagya

ki

4) Saral
e

Correct Answer: Saubhagya

Candidate Answer: Saral
e

QID : 1093 - Which is the 152 million year old fossil discovered for the first time in India (Kutch desert region of Gujrat)?

for 152 faferm o e Sitaren Y @it ¥RA § (ToRTd & oo A ) ugelt IR &t 78 82



Options:
1) Ichthyosaur

2) Rajasaur
ST
3) Masiakasaur

ST

4) Barapasaur
CINEIGE]

Correct Answer: Ichthyosaur

Candidate Answer: Masiakasaur

LRI

QID : 1094 - At which place is the Union Ministry of Youth Affairs and Sports going to establish National Sports Museum?

AT HRHH TUT B HAT fohedl W TR IERT T HUGIRA el TATIAT ThaTT?
Options:

1) Barabati Stadium, Odisha

IR Wiegw, sifesm

2) M. Chinnaswamy Stadium, Tamil Nadu

. e ®feam, afterg

3) Nehru Stadium, Madhya Pradesh

FE | T TR

4) Jawaharlal Nehru Stadium, Delhi

SATERAT g R, feeeht

Correct Answer: Jawaharlal Nehru Stadium, Delhi
STATERAT g wieaH, faeet

Candidate Answer: Jawaharlal Nehru Stadium, Delhi
SATERAT g Wi, feeeht

QID : 1095 - The Union Cabinet has approved MoU between India and on cooperation on Police Trainipg;
, 2y

e 2017 #, 3 wifvisd 3 gfom Tfiern W TeaT & dey & oRa au | )

Options:
1) Afghanistan
ST

2) Sri Lanka

fietent

3) Bangladesh
TeTTGRT

4) Nepal

Jure

Correct Answer: Afghanistan
SR

Candidate Answer: Afghanistan

QID : 1096 - Gauri Lankesh is the first Indian'Jou

T cidher, FefofRd & @ fohg Qe ot Site aretl ue

one of the following awards?

Options:
1) Pulitzer

2) Anna Politkovskaya
QAT GifereehtaehmaT
3) Livingston
ffdme=

4) Golden Pear
e

Correct Answer: Anna Politkovskaya
eei)

Candidate Answer: Pulitzer

QID : 1097 - The largest commodity bourse Multi-Commodity Exchange of India Ltd (MCX) launched India’s first commodity options in .
TIY FeT HHITSE TR Aed! HHIfSE yamd it 2f3a fafite (Traeivaw) = wTRa & gget wHifedt faned Y o IRy fopa

Options:

1) Gold

T

2) Silver

G

3) Diamonds

4) Platinum

wifem

Correct Answer: Gold

Candidate Answer: Diamonds



QID : 1098 - Which country has officially opened its first overseas military base in the ‘Horn of Africa’, Djibouti?

TR a1 7 1o ugen snferenRes faReft = argr ‘B Sife arhierT, et # wenfia fomar &2
Options:
1) China
+=
2) Kenya
=T
3) Nigeria
Argshifar
4) Tunisia
R
Correct Answer: China

Candidate Answer: China

QID : 1099 - Where was The Global Wildlife Programme (GWP) Conference held recently?
e aTEeSesth U (STesequl) Te 81 &1 | gl STaiford el om?
Options:
1) Ernakulum
2) Pune
3) Chandigarh
.g %.
4) New Delhi
73 et
Correct Answer: New Delhi

Candidate Answer: Ernakulum

QID : 1100 - Rajnish Kumar has been appointed as new chairman of which organisation?

TSI AR ohl ohe TTaT ohT 7 Srezved fagh famam mar 82
Options:
1) Securities and Exchange Board of India (SEBI)
TR qo fafeea 51 (30
2) National Bank for Agriculture and Rural Development (NABARD)
¥ R qot T e Io (A1)
3) Reserve Bank of India (RBI)
IR Rerd dap (SmRetand)
4) State Bank of India (SBI)
AR W S (Tetans)
Correct Answer: State Bank of India (SBI)
IRAT Ve I (Taetans) .
Candidate Answer: State Bank of India (SBI)
e (qaeftar)

QID : 1101 - Electrons flow in conductors because there

JATeIeh B Seiarg 1 ol UaTE BIdT & aifch agi |
Options:

1) are free and mobile electrons

T R HiaTae Sog 8

2) are free and mobile positive ions

WA SR HaTSe ThRIHS 3T &

3) are free and mobile protons

@ ue g

4) are free and mobile negative ions

A 3R HiaTEA ARRIHR 3T §

Correct Answer: are free and mobile electrons
o 3R AlaTse selagH 8

Candidate Answer: are free and mobile electrons
ESnERCIng

QID : 1102 - Ceramics are easy to shape, hence they are used in making ___.

RRfAe &l TR &A1 39 8, 3afY 38 __ S H XA fhan STran g |

Options:
1) catalysts

-
2) conductors
Hargeh

3) electrolytes

4) insulators

Correct Answer: insulators



Candidate Answer: catalysts
C

QID : 1103 - A dielectric is introduced between the plates of a parallel plate capacitor. What happens to the capacitance of the capacitor?

ek FAMIR e WA & Wiel & dia Yok URTAE[dich URT fohaT T § IenRar &t Senierar & e agarg gim?

Options:

1) Capacitance decreases

FefaraT ge St &

2) Capacitance increases

TeTREdT ¢ STt

3) Capacitance is doubled

genferar KT

4) Capacitance is halved

erRRrar armeft g1 T @

Correct Answer: Capacitance increases
TeTRardT 9¢ STt &

Candidate Answer: Capacitance is doubled
Henferan KT

QID : 1104 - The inductor follows the

TR’ STERT el Ccall

Options:

1) De-Morgan's theorem.
S-an & uag

2) Fleming's left hand rule.
TATET T 9T g1y |

3) Fleming's right hand rule.
TRATHT 2T IR BT

4) Lenz law.

Correct Answer: Lenz law.

e Rgia

Candidate Answer: Fleming's left hand rule. e X

AT ot 91T g1 R ( TR

r?el’s'”t‘é'

o, &, 381 et wfRe w g

QID : 1105 - When two resistors of the same value are connected in a series with a third
effective resistance?

hiz"of;t same value as the other two, then what will be the net

ST GH A o & AfaRie SRae § S §1 8,9 THH HIH T 16 Ufekiy 37eh 61 kgt

Options:
1) Net resistance decreases

2) Net resistance increases

3 VioRIY 7 STt §

3) Net resistance is doubled

I TR ST & orre & . \

4) Net resistance is tripled A

3 TRty o= 77 &) e &
Correct Answer: Net resistance is tripled
[ TfeRter i T &) e @

Candidate Answer: Net resistance increases

UG Uik 95 STt &

QID : 1106 - The varactor diode is used as a

R TS, o g fohar ST |

Options:
1) constant current source.
FReR faega vt Sial

2) constant voltage source.
fRRR aiRw &a

3) voltage controlled capacitor.

giees fRifaa e

4) voltage multiplier.

Correct Answer: voltage controlled capacitor.

gieds i derfe

Candidate Answer: constant voltage source.
(R dieds Gid

QID : 1107 - What is the order of reverse current in a silicon diode?

e srate & Serdl frerd waTg &1 U T 82



Options:
1) kA
fohett griRR
2)A

3) mA
foett

4) nA
A TR

Correct Answer: nA

A TR

Candidate Answer: mA

QID : 1108 - What is the form factor of full-wave rectified sine wave?

YUi-oTgR GEIRT TS T1g< ohT WU chiReh T 87

Options:
1) 0.636

2)0.707
31

4)1.11
Correct Answer: 1.11
Candidate Answer: 0.707

QID: 1109 -
What is the current (in mA) in the circuit given below

assuming the second approximation of the silicon PN

junction diode?

Tafemie 9o 2rais & Weligd Wieaded B AT &
& o o wfee & foga aw (Bro &) & 3w U
e ?

Options:
1)1.3

2)2.3
3)33

4) 4.3
Correct Answer: 4.3
Candidate Answer: 2.3

QID : 1110 - Choose the correct statement for the breakdown voltage of Zener diode.

SR SIS & SheT3H aieest o forg Tg faawor g1
Options:

1) It damages the diode.

IE ST ol Jehd UGTTAT & |

2) It decreases with decrease in current.

T fagga varg & ot & 91 e gt STt 81

3) It is approximately constant.

g T fRR 2 |

4) It is double of the forward knee voltage.

gg A A AR F AT § |

Correct Answer: It is approximately constant.
g AT AR |

Candidate Answer: It decreases with decrease in current.

Ig fregd vaTe & et & Ty o g STt 1

QID : 1111 - What is the value of collector current of a bipolar junction transistor having a current gain(B) of 200 and base current of 50 nA?

gt S giforer § shctarex fegd o1 o1 71 R @ Te fargge e &feT (B) 200 SR amerR fAggd o 50 pA 82



Options:

1) 100 pA

2) 1 mA

3) 10 mA

4) 100 mA

Correct Answer: 10 mA

Candidate Answer: 10 mA

QID : 1112 - The gate voltage of E-MOSFET is reduced to zero. Then the drain current is

$-Aiethe & TIc dieest i YT e I AT 1T &1 91 g fargge, amT gift|

Options:

1) at saturation.

Hfe

2) equal to IDSS.

IS o RIS

3) zero

sl

4) narrowing the channel.

ATl Y A B T8I BT

Correct Answer: zero

=

Candidate Answer: equal to IDSS.
& IR

QID : 1113 - The flow of electron in a p-channel JFET is from to

R-I7et SAthe & geierel o T il GERCIE]

Options:
1) drain, gate

2) drain, source
39, 9
3) gate, drain

4) source, gate

Correct Answer: drain, source
34, 9t

Candidate Answer: source, gate

a4, e

ive feedback from the collector to the base is

QID : 1114 - The transistor bias circuit arrangement providing a stable system
U et &

giforeer qafug afthe coawer dedex & SR UR Teh TehRIcHh UfdfehaT

Options:

1) collector to base bias.
STYR YatIg &

2) emitter bias.

ot e
3) fixed bias.
fafaa

4) fixed bias with emitter resistor.
ufeRteds & 1Y 7 yatug

Correct Answer: collector to base bias.
STYR Yatig & forg dhetaex
Candidate Answer: [ NOT ANSWERED ]

QID : 1115 - What is the value of the coupling capacitor in RC coupling?

R} g # greier ST et A T 82

Options:

1) 100 nF

2) 1 pF

3) 10 pF

4) 100 pF

Correct Answer: 10 pF
Candidate Answer: 100 pF

QID : 1116 - The oscillations produced by oscillators are

SR grI SR G ____ @i g |

Options:
1) under damped.
IR S

2) critically damped.
q&H
3) over damped.

4) modulated.
smuRafda

Correct Answer: critically damped.
ger v SHs



Candidate Answer: under damped.
3

QID : 1117 - What is the output of the Schmitt trigger when fed with a sinusoidal voltage wave?

e fETR ot fonfa a1 T 81T § 519 Uk TSHISSd aieeT dex o 39 §1YE T ST 82
Options:

1) Asymmetrical square wave

[ELCECUECE

2) Rectangular wave

HTIATRR AL

3) Saw tooth wave

STRT &= T

4) Trapezoidal wave

4 e

Correct Answer: Asymmetrical square wave

oo af a1gR

Candidate Answer: Asymmetrical square wave
if TR

QID : 1118 - What number of stable stages does an astable multivibrator has?

Teh IR Hediargsiex # fohe fRR =RoT gia 82
Options:

10

2)1

3)2

4)3
Correct Answer: 0
Candidate Answer: 2

Tehd o1 gut Teh T UTeT et & folg ahaT off OTer TaelThier # ST fohg ST aret giforeer &t =graw

Options: 0, et
1) 0 / Wy
2)1 \ 4

3)2 A

4)3 :
Correct Answer: 2
Candidate Answer: 2

QID : 1120 - What is the percentage voltage regulation of an unre

Ten SAf-rafid fosTelt Simyfe &1 ateest fafree
Options:

1)0%

2) 0.05%

3)0.1%

4)0.15%

Correct Answer: 0.1 %

Candidate Answer: 0.1 %

QID : 1121 - Which among the following is a limitation'of KCL?

frfafed 7 @ o= f efiea & A g2

Options:

1) It is not applicable for more than one voltage source.

T8 Qe 3ifereh dieest Hiel o g oy et |

2) It is not applicable for circuits having more than two branches.

75 3 ¥ 31 et are Al & forg @ T 2

3) It does not consider the dependent sources.

Tg ARk il R AR 78 a=ar g

4) It does not consider the leakage charge through nodes and conductor.

g g SR cheder & AT § Rama y9R W AR 78 s &1

Correct Answer: It does not consider the leakage charge through nodes and conductor.

g ey SR hedex & AT § Ruma U9R | AR 781 &t &1

Candidate Answer: It is not applicable for more than one voltage source.
I8 Uah @ 1M dieest A & forg ey et 8

QID : 1122 - A 5A current source has a source resistance of 40 ohms. What will be the value of the equivalent voltage source?

ek 5 QiR fAgga it o1 & 40 37 o Yok oita ufaRle &1 sRIeR dtedst $iid ol AT T ghm?
Options:

12V

2)8V

3)80V

4) 200V

Correct Answer: 200 V

Candidate Answer: 200 V



QID:1123-
What is the current {in mA) in resistor Ry in the circuit given below?

7 r T s Aot e, A Rega g (ma &) =i

Ry R3
1000 100 O
VAN AVAYAVAV AR
Vi — Ro e Wi
Lo RV — 100 — AW

Options:
1)734

2)83.4
3)93.4

4) 103.4
Correct Answer: 83.4
Candidate Answer: 103.4

QID : 1124 - What is the power transmitted to a load of 20 ohms by a voltage source of 20 V having an interndkresistance of 60 ohms?

20 dtee & it Fid gRT 20 31 st & UNa 6 71 «1fh o &, s 60 o & sriafkes ufasty @1 &2
Options:

1) 0.50 W

2)0.75W

3)1.00W

4)1.25W

Correct Answer: 1.25 W

Candidate Answer: 0.75 W

QID : 1125 - If the load resistance and the equivalent circuit resistance is equal,

Tfe e uferter ofk greRer Tfhe ufaRly sRIeR 8, o I

Options:
1) maximum power is transmitted to the load

iR 21feh AR B AR e @ \

2) the internal resistance of source is increased

3) the internal resistance of source is decrea
Fid I sTiaRen A TR

4) minimum current flows through the cir
qfche & A1e @ YA Regd v a5dis
Correct Answer: maximum power is transrm

e itk R & A gt &

Candidate Answer: maximum power is transmitte

3ffderan <1fch YR &l O gt &

QID : 1126 - Voltage induces the current in a circuit,only if the circuit is

gieds Afche # fagd, emr a+ft oRa v w19 afdhe |
Options:

1) closed.

F= g

2) highly conductive.

Eil &

3) highly resistive.

Srfees ufaRte g

4) insulated.

[EREIRED

Correct Answer: closed.
F<E

Candidate Answer: closed.
FTE

QID : 1127 - What is taken as a reference vector in the analysis of parallel RC circuits?

TJEFTGR IR Gihe & fasdwor & Teof daex & =0 § a1 formm S 82



Options:
11

2)R
3)V

4)XC
Correct Answer: V
Candidate Answer: XC

QID : 1128 - The power measured in VAR is .

Ruar A ot s areh a3

Options:

1) active power

qfeRg e

2) apparent power

Tae e

3) impedance power
T <

4) reactive power

<ffet arfh

Correct Answer: reactive power

ufaferansfter arfce

Candidate Answer: reactive power
ufafohansfter a1fh

QID : 1129 - What is the true power of a parallel RL circuit connected to an AC voltage source of 60 V with a resistance of 20 ohms and an inductive reactance of
1600 ohms?

MR 3RY Giche i Tt Afch a1 ghft S1a 60 dlee & Tt dleest Sid & 20 309 &1 ufakiy 3k 1600 31 a1 IRkfts

Options:
1) 160 W
2) 180 W 1
3) 200 W Pr s

4)220W f X
Correct Answer: 180 W ,

Candidate Answer: 200 W I/’ — \~:;r.»ft
a 03)4 and C = 10 pF operating at 50 Hz?

7 50 g&sT W BT 82

41

QID : 1130 - What is the impedance (in ohms) of a series RLC circuit havingR =5

SR ARG Tfche & ufcaren (e #) 1 &, A R = 50 3, L= 0.32 H 3R C
Options:

1) 100.53

2)217.78

3) 223.45

4) 318.31

Correct Answer: 223.45
Candidate Answer: 217.78

R

QID : 1131 - What value of capacitance (in {iff) must be

TR & R #1 (UF H) Y 9fEel STRYS Fiche # (a2 Hicel
Options: /
1) 0.0317

2)0.317

3)3.17

4)32

Correct Answer: 0.317

Candidate Answer: 0.317

s RL circuit, having L = 0.32 H and R = 50 ohms, to obtain purely resistive circuit?

Gfdhe ure oA & forg St s =nfey, fred L = 0.32 H 3R R = 50 aftera g2

QID : 1132 - In a series RL circuit, the inductive reactance is XL = 50 ohms and inductance of 0.16 H. What is the frequency of the supply?

gl STRYS Gfche H, IRoT mfaerd XL = 50 1 i 0.16 H &t 1fsmo= &1 smyff &t smafy arm &2

Options:
1) 20 Hz
2) 25 Hz
3) 50 Hz
4) 60 Hz
Correct Answer: 50 Hz

Candidate Answer: 50 Hz

QID : 1133 - A series RLC circuit has a resistance of 2 k-ohms, inductance of 0.05 H and capacitance of 10 pF. What is the bandwidth (in kHz) of the circuit?

e SjRgell STRUeTE wfthe & 2 . aitert ot uferte, 0.05 H 1 sifdrsToe ofk 10 pF & Genfean & afdhe o defigy (el gés1 §) = 82
Options:

1) 5.86

2)6

3) 6.36

47

Correct Answer: 6.36

Candidate Answer: 6



QID : 1134 - A series RLC circuit has a resistance of 80 ohms, inductance of 1.25 H and capacitance of 5 pF. What is the quality factor of the circuit?

ek SjRaell STRUeTe} wfdhe & 80 aiter a1 ufate, 1.25 H o1 SifsTom ofR 5 pF &t Senfaar &1 afhe a1 o= R o1 82
Options:

1)5.25

2)55

3)5.75

4)6.25

Correct Answer: 6.25

Candidate Answer: 6.25

QID : 1135 - What is the value of the neutral current in a 3-phase balanced star system?

3-TR07 Hgford ©R Reen # dex figgd vaTg &1 74 R 82
Options:

1) 0.333 of phase current

=RoT faggd vars &t 0.333 T[T

2) 0.666 of phase current

=T faggd varg &1 0.666 T[T

3) 0.707 of phase current

=T faggd varg 1 0.707 T[T

4) Zero

I

Correct Answer: Zero

Rl

Candidate Answer: 0.707 of phase current
=T faggd varg &1 0.707 AT

QID : 1136 - What is the value of line voltage (in kV) of a 3-phase star connected system having a phase voltage of fB kv?
3.3-kV & TRUT diedt dTel 3-TR0T R e fR&eed & agd aiedst (kV ) o1 714 a7 87 ——

Options: }w.n.;\ )
111 : \
:.:‘f/

3)3.3 4
4)5.7

Correct Answer: 5.7 o K
Candidate Answer: 3.3 [‘/ \>

©Quivalent delta connection has a per phase resistance of 90 ohms?

QID : 1137 - What is the value of the per phase resistance (in ohms) in a star conn,

R FAaM § gty aror ufakte (3w H) 1 719 o & af auged Seet dmaE § 90
Options:

1) 30

2) 45

3) 60

4)75 .

Correct Answer: 30
Candidate Answer: [ NOT ANSWERED ]

QID : 1138 - What is the value of the line voltage (in kV) o

3.3kV %Wﬁéaaws-mmémaﬁa%gﬁwa?mm(kvﬁ) T AT T 82
Options:

1) 1.1

2) 2.1

3)3.3

4)57

Correct Answer: 3.3

Candidate Answer: 3.3

ta connected system having a phase voltage of 3.3 kV?

QID : 1139 - The condition of resonance arises when

ufaeafy i R q@ gl g sa____|

Options:
1) resistance is equal to inductive reactance.

ufaRter ORor ufdena ufafokar & aReR gt

2) resistance is equal to capacitive reactance.
o TR Ufdfehar 3 SRR gt

3) resistance is equal to impedance.

ufaRte ufdaren & sRieR &
4) capacitive reactance is equal to impedance.
enfaar ufafohar ufdaren & srreR &

Correct Answer: resistance is equal to impedance.

ufaRter ufaaren & s)IsR &

Candidate Answer: resistance is equal to impedance.

ufoRter ufasren & s)sR gt

QID : 1140 - To increase the resonant frequency of a parallel RLC circuit, the capacitance must be

TAMIR TR Afche & oA Mg &l TgM o forg, FemRermr I



Options:

1) decreased.
AT A8y

2) increased.
EEEL

3) replaced with inductance.
& 9T FEAT

4) replaced with resistance.

AIeRTY & AT S&eT 9y

Correct Answer: decreased.
AT A1y

Candidate Answer: increased.
EEEL

QID : 1141 - What is the Boolean expression for a 4-input AND gate?

4-379¢ AND e & g gfere & sifreafs oam 87
Options:

1) X =A+BCD

2) X = AB+CD

3)X=ABC+D

4) X = ABCD
Correct Answer: X = ABCD
Candidate Answer: X = AB + CD

QID : 1142 - For all possible input combinations, the exact reverse output of OR gate can be obtained by gate.

goft Gerifaa 3qe Tarer! & fag e gRT OR 7t & Tdtes Iete FAefa ure fopg 1 era &1
Options:

1) EX-NOR

2) EX-OR

3) NOR

4) NOT

Correct Answer: NOR
Candidate Answer: EX-OR

QID : 1143 - What is the number of clock pulses required to completely load and

Ueh 4-fe IR ol g8t aRE @ e SR 3T a8 Saie A & g simasas agt i
Options:

0ad a 4-bjt register ?

Correct Answer: 7
Candidate Answer: 4

QID : 1144 - If the input resistor of 100 k-o!

I argd iRa Sueh & 100 k-39 & gqe ufe
Options:

1) 30 pA

2) 300 pA

3)3mA

4) 30 mA

Correct Answer: 30 pA

Candidate Answer: 30 pA

js connected to a 3 V supply, then what will be the current flowing through the resistor?

&1 vfokty & Arenw @ fagge, ey R ghft?

QID : 1145 - What is the resolution of a 0-5 V 8-bit DAC?
0-5 dice 8-foe gt a1 Retfeger w82

Options:
1) 0.0019

2) 0.0039
3)0.0078

4) 0.0156
Correct Answer: 0.0039
Candidate Answer: 0.0156



QID : 1146 -
What is the simplest expression for K-map shown in the figure
given below?

=1 &1 21T 31eR(c) # feame are &2y & fore e Ta
et F15?

AB
AB
AB
AB

oo~
=0 e

Options:
1
X=B+AC

2)
X =ABC+ABC

3)
X=AB+AB

4)

X=AB

Correct Answer:

X=B+AC

Candidate Answer: [ NOT ANSWERED |

QID : 1147 -
What is the output for the network given below?

e feu v AeTs F BT aEeE e

Options:
1) X = ((A+B)C)D

2) X = (A+B)(C+D)
3) X = A+(B+(CD))

4) X = ((AB)+C)+D
Correct Answer: X = ((AB)+C)+D
Candidate Answer: X = ((AB)+C)+D

QID : 1148 - The group of bits 01010 is serially shifte
contained in the register after 2 clock pulses?
forcd o1 Ge g 01010 &t AR (SR e uget) Gah 5 fale TReter smseye Rive St foraeht mRfve f&fd 01111 8, 7 997 11 2 FRileh Ued o a1a ISR i T aog ghft?

Options:
1) 01010

ht-most bit first) into a 5-bit parallel output shift register with an initial state of 01111. What is the value

2)01011
3) 01001

4) 10011
Correct Answer: 10011
Candidate Answer: 10011

QID : 1149 - What is the number of flip-flops required to produce a divide-by 64 device?

e fearse a18 64-f3arsa & fAnfa & forg forat foRTo-ueita Y emmasaear 82
Options:

14

2)5

3)6

47

Correct Answer: 6

Candidate Answer: 4



QID:1150-
What is the De Morgan's equivalent to the expression ABCD ?

ABCD i &1 & Hidie §Hed #2167

Options:

1)
A+B+C+D
2)
A+B+C+D

3)
A+B+C+D

4

13 +(B+(CD))
Correct Answer:
A+B+C+D
Candidate Answer:
A+B+C+D

QID : 1151 - What is the nature of waves generated by the transmitting antenna in a radio communication?

T FAR # grAfaféT U1 gRT S0 a3 Al Uepfd T 82
Options:

1) Plane

A

2) Rectangular

IATRR

3) Square

f

4) Spherical

HISIGIN

Correct Answer: Spherical

Candidate Answer: Spherical

QID : 1152 - What is the directivity (in dB) of a half-wave dipole antenna?

SATeIT-eTeR ey QT Y et (dB #) a 82

Options:
1)1.76

2)2.15
3)6.25

4)13.46
Correct Answer: 2.15
Candidate Answer: 2.15

QID : 1153 - What is NOT a property of an end-fire a

Te-ThTeR QR AT 70T T T8t &7

Options:

1) It uses two half-wave dipoles at distance of one half wavelength.
TE ok e AT e T ) TR &Y Se-ad fgggsi et SuahT e 2
2) Provide narrower beam-width than broadside array.

sisaTsS ROM i gorT A dgpfad dH-ligy e &l 8|

3) The gain is less than that of broadside array.

T HSHISS TR & HehTee HA G |

4) It is a stacked collinear antenna.

g U WSl TR BT 8

Correct Answer: It is a stacked collinear antenna.

g Ueh TS ARG YT &1

Candidate Answer: The gain is less than that of broadside array.

AT SiTeTTEs Woft & G FAE |

QID : 1154 - What is NOT an application of a parabolic antenna?
RecAfieh TEHT & IUTNT T T8l &7



Options:

1) Direct television broadcast.

Tg& etforet TR

2) Used as cellular microwave link.

T ATSehiad fefeh & &0 H IuanT fohaT S11aT &
3) Wi-Fi link.

aTSHTS foieh

4) Satellite communication.
IWIE TR
Correct Answer: Wi-Fi link.

qrEwTs i
Candidate Answer: Wi-Fi link.
foie

QID : 1155 - Which among the following components are used in the Yagi antenna?

Trft 31§ A & @ ol 91 " SuaiT fohar ST 87

Options:
1) Dipole, one reflector and many directors.
Sedt, Ue wrad ok &g fFderd
2) One reflector and one director.
e WRTddeh 3R Tah fAgsreh
3) One director.
e e
4) Two reflectors.
PRERET

Correct Answer: Dipole, one reflector and many directors.

Sy, Te wrad SR &g Fdee

Candidate Answer: Dipole, one reflector and many directors.

ey, T wrada 3R % e f
é) aveceiver?

QID : 1156 - Which of the following factors affect the propagation level of an EM wave travelling from a tran’sﬁn_’;iAt“tA 0
1. Curvature of earth E v
2. Roughness of earth 4

3. Magnetic field of earth 5

fAfafaa wRal # @ i a1 gioier & Reffer & forg Sun o= Y TamT @R &t genfaa wwar 82

1. qeeft Y aghar

2. g} ol RSO
3. gedt T Jahig 8
Options:

01

2)2

3)3

4)1,2and 3
1,238k 3

Correct Answer: 1,2 and 3
1,233

Candidate Answer: 3

QID : 1157 - Choose which propagation medium can handle VHF and UHF.

1. Ground wave propagation
2. Sky wave propagation
3. Space wave propagation

I T YR ATEAH QU 3R JUTTT ht ST TehdT &7

1. YT YR

2. 3ATRI g TER|
3. SiaRer &g TER|
Options:

1) 1 only
haet 1

2) 2 only
haet 2

3) 3only
%ad 3

4) both 1 and 2
18R 2 gt

Correct Answer: 3 only

Shad 3

Candidate Answer: 3 only
%ad 3

QID : 1158 - Select the correct order of the following atmospheric zones on the basis of the number of free electrons residing in them.

TGS &3} T TEY ThH I TR g aTet Hch Selarg =l chl T o SR WR A |



Options:

1) Troposphere > Stratosphere > lonosphere
> QeI

2) lonosphere > Stratosphere > Troposphere
> QZ:T@?CR>

3) Stratosphere > Troposphere > lonosphere
> > SRR

4) Stratosphere > lonosphere > Troposphere
> STIhaR>

Correct Answer: lonosphere > Stratosphere > Troposphere
> RalfepR>
Candidate Answer: Stratosphere > Troposphere > lonosphere

> Frebae>

QID : 1159 - What is the frequency range of low frequency?

A ST T ST o1 T 87
Options:
1) 30 - 300 Hz

2) 300 - 3000 Hz
3)3-30 kHz

4) 30 - 300 kHz
Correct Answer: 30 - 300 kHz
Candidate Answer: 30 - 300 Hz

QID : 1160 - Which properties can be varied in modulation for the addition of information to a carrier signal?
1. Amplitude
2. Frequency
3. Phase

4. Polarization

aTEh Tohd | ATgeI & fohe-fohe T[UTT ol S&eT . STH ST STrel SiTelT 82

1. @M

2. smgfy

3. W7

4. gdtezor
Options:

1) 1and 2 only
haer 1 3R 2

2) 2 only

haet 2

3) 1,2 and 3 only
Fae 1,2 MR 3
4)1,2,3and 4
1,2,33R4

Correct Answer: 1,2,3 and 4
1,2,33R4

Candidate Answer: 1 and 2 only

thae 1 3R 2

QID : 1161 - Which of the following is NOT a type of analoﬁhﬁodulation?

T8 Q P T GATANT AR T TehR Tl 82
Options:

1) PPM

o

2) AM
quH
3)FM
qhYH
4) PM
g

Correct Answer: PPM

Candidate Answer: PPM

QID : 1162 - What is the total power (in W) of an 80% DSB-SC modulated carrier wave having a power of 120 W?
80% SrHeT-yaT AiSyrics argeh aex arct 120 W fareld, 1fh i et <1fxh (W ) &/ 87

Options:
1)34.4

2)38.4
3)42.4

4) 46.4
Correct Answer: 38.4



Candidate Answer: 34.4

QID : 1163 - An AM wave has the lowest frequency component of 790 Hz, with a 90 Hz wide band. What is the carrier frequency of the wave?

Teh QUH @8R B 90 g € & T 790 §EST ol el hH ATgFY Teeh &1 71e Y argeh gy om 82

Options:
1) 700 Hz

2) 745 Hz
3) 835 Hz

4) 925 Hz
Correct Answer: 835 Hz
Candidate Answer: [ NOT ANSWERED |

QID : 1164 - The maximum transmission efficiency of an sinusoidal AM signal is

SaRfeh TeH el &t Sifderdw TeRor emar gl
Options:

1) 21.68%

2) 33.33%

3) 58.88%

4) 65.55%

Correct Answer: 33.33%

Candidate Answer: 65.55%

QID : 1165 - In which of the following does radio waves propagates?
et a&t Frafafea 7 § forem 8 therdt 82

Options:
1) EM waves

2) Fiber optic cable
3R HTfeeh heet
3) Insulators

Aerh

4) Water

ot

Correct Answer: EM waves

Candidate Answer: EM waves

4uH el

QID : 1166 - What is the percentage of power saved in an SSB-SCavhen wave is transmitted with 80% modulation?

TOUHE-THHt § TSt S arett 1<k o1 ufasrd o 8, 59 S & 1y AT gt &
Options: 3
1) 0.8233
2) 0.8456
3) 0.8598
4) 0.8788
Correct Answer: 0.8788

Candidate Answer: 0.8233

QID : 1167 - What is the disadvantage of an SSB-SC'@ver AM modulation?

QA Alge R GUUHS-QaH! & T Jehdl™ 87
Options:

1) The bandwidth requirement is low in AM.
defasy smavachd YA A A §

2) Thermal noise is low in AM.

qiT MR YUA T FH &

3) Increased power efficiency in AM.

qu | foroteft &Y emyar &

4) Less complex design of AM.

QUH & & S fesTga

Correct Answer: Less complex design of AM.
QUQH oAl A

Candidate Answer: Increased power efficiency in AM.
qu | foroteft &Y emyar &



QID : 1168 - Which among the following is/are the purpose/purposes of pilot signal?

1. Equalization

2. Synchronization
3. Continuity

4. Attenuation

o § @ A9-a1/8 urgete R &1/ 38T 82

1. gefienvor

2. fishgsieE

3. fARaRar

4, gftor

Options:

1)1,2and 3

1,283

2)1and2

138R2

3)2and3

23R 3

4)2,3and 4

2,334

Correct Answer: 1,2 and 3
1,283

Candidate Answer: 2, 3 and 4
2,334

QID : 1169 - A balanced modulator is used in .

TITS Algeiex T SUANT forg foram e 8|
Options:

1) AM
qgH

2) FM
qHhuH

3) PAM
diggH

4) SSB-SC
RENGET

Correct Answer: SSB-SC

Candidate Answer: PAM

QID : 1170 - What is the antenna current of a 60% modulated SSB-SC w

60% ATgaee THUHH)-Taet gz &t arges a<i «0fh 80 W afk gomeft g Q=T it fgga e fohaht givft?
Options:
102A
2)0.4A
3)0.6A
4)08A
Correct Answer: 0.6 A

Candidate Answer: [ NOT ANSWERED |

ier wave power of 80 W and impedance of the system as 20 ohms?

QID : 1171 - Which amongthe following are meth -SC generation?

1. Phase discrimination
2. Frequency discrimination
3. Product modulator

= & @ A o agad-gadt & Iare o adier §?

1. TROT AgHT
2. IMgfRY AN
3. IdTE Afge®
Options:

1) 1 only
Fae 1
2) 2 only
had 2
3) 3only
Fad 3

4) 1 and 2 only
Fae 1 3R 2

Correct Answer: 1 and 2 only
had 1 3R 2

Candidate Answer: 3 only

thaet 3



QID : 1172 - Which amongthe following is TRUE with respect to de-emphasis?

1. De-emphasis is a complement of pre-emphasis.

2. It decreases the magnitude of higher frequencies with respect to the magnitude of other lower frequencies.
3. Itis used in FM broadcasting.

4. [timproves the SNR.

STHERE S Gy A A A g E AT Ea 8?

1. STk R fi-urh e o gz &1

2. I 319 A STGRITT o IRATOT & Feieg 7 Iea SGFIA chl TIRHATIT hA el 51
3. 3YehT IYTNT THUH THROT H fhar Sirar 81
4. g UHUASR T 81

Options:

1)1and 2

138R2

2)1,2and 3

1,238R3

3)1,2and 4

1,238R4

4)2,3and 4

2,33k 4

Correct Answer: 1,2 and 4

1,238k 4

Candidate Answer: 2, 3 and 4
2,33R4

QID : 1173 - The bandwidth of an FM wave, when the maximum deviation allowed is 50 kHz and the modulating signal has a frequency of 10 kHz, is

9 AfYeRan fame &t srgafe 50 kHz SR AfgafeT e & 10 kHz &t gy & 99 ThuH e &l ssfagy H|
Options:

1) 40 kHz

2) 50 kHz

3) 60 kHz

4) 120 kHz

Correct Answer: 120 kHz
Candidate Answer: 40 kHz

QID : 1174 - In which of the following, the phase modulation of side bands occurs?

=1 7 @ R o wrgs d o1 wRT AfgARH giaT 82
Options:

1) DSB-SC
Srogeht-gaht
2) ISB

3) SSB-WC
T

4) SSB-SC
EENSEIREE

Correct Answer: ISB

Candidate Answer: SSB-SC
RENGEIRSE)

QID : 1175 - Which among the following AM signals are uééd in television broadcasting?

fAfae waror & = vum Gohal & @ @t 91 Iugi fahar Sigr 82
Options:

1) DSB-WC

Suaet-gegft

2) DSB-SC

Soget-uaht

3) SSB-SC
ERNSEL
4) VSB
gt

Correct Answer: VSB

Candidate Answer: VSB
fagash

QID : 1176 - Which factor of carrier wave is affected by noise?

ITEeh T & S ¥ ShRe AR T T 82
Options:

1) Amplitude

S

2) Amplitude and phase both

AT 3R TR &t

3) Position

g

4) Phase

TIROT



Correct Answer: Amplitude and phase both
3T SR TROT Y

Candidate Answer: Amplitude
HTIATH

QID : 1177 - The phase modulation and frequency modulation are considered as a special case of .

TROT Aregee 3R g AfeEA Iy g & w9 § 7 S g

Options:
1) PPM
o

2) PSK

3) QAM

QA
4)SSB

Correct Answer: QAM
FIqH
Candidate Answer: PPM

QID : 1178 - The bandwidth of AM is .

gon S defagy g
Options:

1) 455 kHz

455 frelt 5ot

2) 540 kHz

540 foreit g&s

3) 600 kHz

600 freft gésT

4) 1110 kHz

1110 forett gést

Correct Answer: 1110 kHz
1110 forett &&=

Candidate Answer: 455 kHz
455 fopett gt

QID : 1179 - The bandwidth of FM is
QUH <k defrgy g

Options:

1) 20 Hz

20 &t

2) 20 kHz

20 fohett &

3) 20 MHz

20 T EEH

4) 1110 kHz
1110 fenett g

Correct Answer: 20 MHz
20 M &

Candidate Answer: 20 MHz
20 BT &

QID : 1180 - In TV broadcasting, video signals are transi

&t gaRor §, Afea Hehdl ar 7 ok offeat Ghai vt __ & ofta forar S 81
Options:

1) AM, FM

TQUH,gHYH

2) FM, AM

TthEH,JuH

3) PM, AM

RIRGAYC

4) PM, FM

digw, gy

Correct Answer: AM, FM
TQUHE,gHYH

Candidate Answer: AM, FM
TQQH,gHYH

itted in and audio signalsin ___.

QID : 1181 - In the phase modulated signal, the deviation of frequency is

TR Higeide end &, Mg o fareer @)



Options:
1) constant.
@R

2) proportional to amplitude.
ST &

3) proportional to frequency.
&

4) square of amplitude.
ST el it

Correct Answer: proportional to amplitude.
3T &

Candidate Answer: proportional to amplitude.
ST &

QID : 1182 - When simple AGC is used in radio receivers .

STe ATROT Gottet At Refier # IuahT fhar Siar g, e |

Options:

1) voltage produced between stations is highest

Rl & i I diedsT STaaH gidt &

2) more accurate output is obtained by increasing the time constant of AGC
ot & ORI Tua &Y Tera $ifde éter ffa ure famar st gepar &1

3) audio stage is controlled by AGC
Siifeat @<t gefieh grr fafa

grRI
4) the AGC increases with signal strength
Tehd &l dTehd T Toiit 576 STt &
Correct Answer: the AGC increases with signal strength
Thd <hl dTehd & ol 96 ST &
Candidate Answer: voltage produced between stations is highest
Rl & ffT I diedsT STaaH gidt &
QID : 1183 - The quantization level is a function of in PCM encoding.
uRaTofteror TR didfieg ghif$n & T Ueh Gl gl
Options:
1) amplitude
A
2) frequency
3) cube of amplitude
ST & g
4) cube of frequency
SIEISEIRE]
Correct Answer: amplitude
A

Candidate Answer: frequency

QID : 1184 - Which among the following is a digi

Freforfa 3 & o < RfSrea Tt 1 22

Options:
1) PAM
diggn

2) PCM
didfium
3) PPM

drdes
4) PWM

Correct Answer: PCM

Candidate Answer: PCM

QID : 1185 - What is the process of converting an analog signal to discrete form called?

QHTANT Thd bl 31Tdd ®U 8 URafdd et chl UfehaT & hgetld &7
Options:

1) Modulation

AT

2) Multiplexing

3) Encoding

4) Quantization

Correct Answer: Quantization

Candidate Answer: Quantization
ufRaTofteRzor



QID : 1186 - Bit depth is .

fedwr__3

Options:
1) the number of quantization level.
TR & I
2) the interval between two quantization levels.
TRl & S T SR

3) the number of possible digital values to represent each sample.
UG T Sl Ui e & forg T RfSies a1 & g
4) the amplitude to the continuous wave.
Tad T8 & AW
Correct Answer: the number of possible digital values to represent each sample.

T 1 wfafAfde A & fog e f3fSies am & g

Candidate Answer: [ NOT ANSWERED |

QID : 1187 - How many samples does a Delta modulation use?

3T Ager foha=t AT T IUTNT el &2
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 2

QID : 1188 - What is the frame rate of a TDM when the transmission rate is 32 kbps and each slot has 16 bits?

Tfe A 1 deRuT & 32 HefTiey & ok Ui wiie | 16 faey & df tha X a1 82
Options:

1) 1000 fps

1000 Twdigg

2) 2000 fps

2000 Twdigg

3) 3000 fps

3000 Twdigg

4) 4000 fps

4000 TwdiTg

Correct Answer: 2000 fps
2000 Twdiey

Candidate Answer: 2000 fps
2000 Twdigg

QID : 1189 - The bandwidth of signals to be transmitted is less t 5 pdWidth of the medium. What should be used to increase the efficiency of the

bandwidth?

TaRd g aTet Hehdl ol SSfagy ATeTd & g ; SoM & fIg 3T ST AT ST =12
Options: é
1) Code division multiplexing
Fie fquTeH agd
2) Frequency modulation

g
3) Frequency divi§ion multiplexing

4) Time division multiplexing

SEpACRINE RS

Correct Answer: Frequency division multiplexing
[ERINEEES)

Candidate Answer: Frequency modulation

gy ATgARE

QID: 1190 - An 8 to 1 mux has selection lines.

Th8Y 1T Spckceidnikd|
Options:

Correct Answer: 3
Candidate Answer: 1

QID : 1191 - The bandwidth required by the ASK modulated signal is
TUES: Hiee Rive grr emifed defey 8l



Options:

1) double of the bandwidth of baseband signal.
Jude Tohd B Fefiey ol AT

2) half of the bandwidth of baseband signal.
SHSS Hehd ol SSfagy T S fgear

3) quarter of the bandwidth of baseband signal.
A T i Fefagy B T

4) same as the bandwidth of baseband signal.
EREERETEIERERUEREIC]

Correct Answer: same as the bandwidth of baseband signal.
I Goha it defagy & wAE

Candidate Answer: quarter of the bandwidth of baseband signal.
TGS Hohd &l SSfagy T draTs
QID : 1192 - Which among the following is also called ON-OFF keying?

Frfafea & & o 3t sif-oift gotial o &9 7 off ST S11ar 82
Options:

1) ASK

2) FSK

ThyHh

3) PSK

4) QPSK
Correct Answer: ASK

Candidate Answer: ASK

QID : 1193 - Which of the following can be used as a transmitter for an optical fiber?

Jiffeher higeR & forg gigwier & w0 & 3w & @ o6t T1 3%AHTet fohan ST dehar 82

Options:
1) Photo-diode
Hic-eraE

2) Bulb
Ere)

3) Laser
AR

4) Sun

Correct Answer: Laser

Candidate Answer: Laser

QID : 1194 - To reduce the attenuation in a fiber
el TS & HRUT HIgaR HTTeh SheeT & &fUM i el cherl
Options: 2
1) add new bends.
T Ghra ST
2) add a new cable in parallel.
AR H Yeh T Shadl Sila
3) use repeaters.

Y 2T JUANT A
4) increase the bend radius.
nls B sgrd

ble bend, we can

Correct Answer: increase the bend radius.
Brear serd

Candidate Answer: use repeaters.
T IUANT A

QID : 1195 - What is the critical angle of incidence (in degrees) of a fiber optic cable when the refractive index of core and cladding are 3.2 and 1.6 respectively?

TTEER Hifeen et # Agayqul Saa- o (3t #) & & afe &R & sidacde gaehich SR STgeren AT 3.2 3R 1.6 82
Options:

1)15

2) 30

3) 45

4) 60

Correct Answer: 30

Candidate Answer: 30

QID : 1196 - Which among the following is NOT an advantage of an optical fiber?
fafafEa & § w9 a1 siffedhe higeR &1 a1y 8l 87



Options:
1) Easy splicing and cable laying
EIciE] Faet faremT

2) High bandwidth
Ia Jefasy

=}

3) Low attenuation
hH

4) Immunity to lightning
TehTeT & wfaRam

Correct Answer: Easy splicing and cable laying

3T AT 3fiR et faw™T
Candidate Answer: High bandwidth
3o Sefagy

=}

QID : 1197 - What is the frequency range of super high frequency?

S 3T g AT ST 3T T 87
Options:

1) 3 MHz - 30 MHz

2) 30 MHz - 300 MHz

3) 300 MHz - 3000 MHz

4) 3 GHz - 30 GHz
Correct Answer: 3 GHz - 30 GHz
Candidate Answer: 300 MHz - 3000 MHz

QID : 1198 - What is the wavelength of HF?

TIU &Y a7 eef T &7
Options:
1)100m-10m
2)10m-1m

3) 1000 mm - 100 mm

4) 100 mm - 10 mm
Correct Answer: 100m-10 m
Candidate Answer: [ NOT ANSWERED |

QID : 1199 - What is the frequency range of a microwave?

ATEehaa I gy IS T 2
Options:
1) 3 kHz - 300 GHz

2) 300 MHz - 300 GHz
3) 300 MHz - 3000 MHz

4) 3 kHz - 30 kHz
Correct Answer: 300 MHz - 300 GHz
Candidate Answer: 300 MHz - 300 GHz

QID : 1200 - Susceptance is a measure of ability to

TR _ uRd e H emar gl

Options:
1) voltage
Eircic

2) current
farege amr
3) voltage and current

gied SR farq T

4) None of these

Correct Answer: current
[ERGRIN

L

Candidate Answer: None of these




